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401 Al HI R 201 I 27,243 27,292 A 49
01 A& Hl 27,000 27,000 0
O[AI&HI] 27,000
og2d |RXNE= 2,700,000& * 1094 A& 27,000
03 Al 2 THHI 243 292 A 49
Og2d RANE=3 A 20
27,000,000& * 0.9% 243
CSAREX BAAY 58,000 58,000 0
< 29,000
[ia 29,000
401 AIEHIZL 20 58,000 58,000 0
< 29,000
[ia 29,000
01 A& Bl 57,478 57,478 0
O[AI&HI] 57,478
SeMa=Xl B=AY 57,478,000& = 14 57,478
< 28,739
s 28,739
03 Al 20 HI 522 522 0
OF=M=X At 204l
58,000,000& = 0.90% 522
< 261
s 261
M=X Mg &= HMAH 13,500 13,500 0
401 Al HI L 2 THYI 13,500 13,500 0
01 A& HI 13,500 13,500 0
O[AI&HI] 13,500
OXM=X MY EFSHAHAS
2,250,000& * 690 A& 13,500
sEEUHE2E =2FAM 21,037 21,037 0
201 £B-2%| 21,037 0 21,037
01 At 22l 21,037 0 21,037
Olger=&tl] 21,037




AN ALY
TEH: = Of 4 RH 2
=R B o o o™

23
& =2AEE8 |X

=R (el &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OsgEEUHEZE =ZH A
109,000& * 19374 21,037
=2 WEX EXAY 100,864 100,000 864
401 A& HIZ 201 I 100,864 100,000 864
01 A& HI 100,000 100,000 0
O[AI&Hl] 100,000
OYAS 5loE T2lS g HYZ FHIZA
1,000,000& * 5004 A& 50,000
O8I WEES sl g JYZ ZHISAM
1,000,000& * 2000 £ 20,000
O=2&H sZ2uWEX XM
5,000,000& = 20H A 10,000
OXEd s2uWEX EXIAMY
5,000,000& = 20H A 10,000
OZANE sZ2uWEX XA
5,000,000& = 20H A 10,000
03 A& =2 THHI 864 0 864
OsZ W& X XA SUHH|
120,000,000& * 0.72% 864
=Z AW CHIl A 2tel 30,000 30,000 0
sZANUW o A4 30,000 30,000 0
401 A& HIZ 2018 30,000 30,000 0
01 A& HI 30,000 30,000 0
O[AI&HI] 30,000
oo &Ax ¥ sX2e
7,500,000& * 400 A 30,000
Ford 2bH X 2tel 191,512 189, 864 1,648
EI HEZE s2E= 90,648 90,000 648
401 Al HIZ 2018 90,648 90,000 648
01 A& HI 90,000 90,000 0
O[AI&Hl] 90,000
O Zard 2H=EX | X7 52 B3 A
45,000,000& = 14! 45,000
O Zard 2t N X7 52 B3 A
45,000,000& = 14! 45,000
03 Al 2 THHI 648 0 648
OHIX =2 NZZI| 2 Ex3 A 20HI
90,000,000& = 0.72% 648
HEX 2 ZEAY 100,864 99,864 1,000
401 AIEHIZL 2 CHEI 100,864 99,864 1,000
01 A& Hl 100,000 99,000 1,000
O[AI&HI] 100,000




AN ALY
HE: sAEWA A3
Sl A 2R 2tel (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O2HX AHds2 ZHIAM
100,000,000 * 14 100,000
03 A& 2 THHI 864 864 0
O2HIX =2 ZZSAIRUYI
100,000,000& * 0.864% 864
SHIAR 2el 135,972 221,584 A 85,612
SHIAR SZEZESAM 75,540 110,792 N 35,252
401 A& HIZ 201 I 75,540 110,792 N 35,252
01 A& HI 75,000 110,000 A 35,000
O[AI&HI] 75,000
O FZ~=92t =28 ZEZA
100,000& * 250m 25,000
OAlZ VH-BSH 52 HEZBA
100,000& * 500m 50,000
03 A& =TI 540 792 A 252
SHIAR =2 T I AL 20l
75,000,000& = 0.72% 540
SHIAR . H=2 FHl 60,432 110,792 A 50,360
401 A& HIZ 201 8] 60,432 110,792 A 50,360
01 A& HI 60,000 110,000 A 50,000
O[AI&HI] 60,000
od=E s¢zs =2 =2 ZFHISA
100,000,000& * 0.2km 20,000
OEd =& 2= 222 FHISA
100,000,000& * 0.4km 40,000
03 Al 20 HI 432 792 A 360
O8H JHETE E.Hi==2 HHISA 204
60,000,000& = 0.72% 432
QI2t CHE ALY 302,600 378,500 275,900
JIHSEEZ T 3A L2 ALY 152,600 152,600 0
402 RIZ2EXt20l ™ 152,600 152,600 0
02 2I2HCH & A S HI 152,600 152,600 0
OJIAHSE&AZ ZEIA ZHRES
120,000& * 1,271.66m 152,600
SHMAIIBIAIE sHESZ ULHEA ALY 150,000 100,000 50,000
402 RIZ2EA20l A 150,000 100,000 50,000
02 RI2HCH & AL HI 150,000 100,000 50,000
OANS ZEXT SLZEBA 2HIRES
150,000,000 = 1JH A 150,000
otd &l 2,907,249 7,073,503 AN4,166,254
= 2,251,396
= 39,000




AN ALY
Za: od
chel: AGHE FHI (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 616,853
Aot & 687,000 2,267,000 A 1,580,000
= 412,000
s 275,000
MEHSHE ZHIALY 687,000 2,267,000 A 1,580,000
= 412,000
e 275,000
401 A& HIZ 2018 687,000 2,267,000 A 1,580,000
2 412,000
s 275,000
01 A& HI 684,939 2,258,868 A 1,573,929
O[AI&HI] 684,939
O MEHCIA &AM AlEHI
684,939,000& * 14 684,939
= 410,764
s 274,175
03 Al 2 0HHI 2,061 8,132 26,071
OMEiotd =&AY 20l
687,000,000& * 0.3% 2,061
2 1,236
s 825
A G5HE 2tel 2,100,280 4,510,534 22,410,254
= 1,839,396
= 26,000
s 234,884
AL0tE ANEES 1,929,396 4,340,344 22,410,948
= 1,839,396
[ia 90,000
401 AIEHI L 201 1,929,396 4,340,344 22,410,948
= 1,839,396
[ia 90,000
01 A& tl 1,924,430 4,326,794 A2,402,364
O[AI&HI] 1,924,430
OMNESH JEX FHHISA
30,000,000& * 14l 30,000
OSXH KRS FHUISAM
30,000,000& * 14l 30,000
OZ MY J0tatE FHIS A
30,000,000 * 14l 30,000
O A5td FHHIAY 1,834,430,000& * 14 1,834,430
= 1,834,430
03 Al S THHI 4,966 13,550 A 8,584
OAotaE FHIAMY AIE20dl
4,966,000& * 14! 4,966
= 4,966
ACHE S22 118,884 118,190 694
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o od F
o AstAE e (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 Lt 21,900 21,900 0
02 =224l 21,900 21,900 0
O[AM&&HI S Xl 21,600
OActd Z&4&H =FU
1,851 » 1562 » 54.0248f = 1201 & 18,000
O ELBHI (AR HI
360,000& = 2.53| » 4013 3,600
Ol3322 ¥ HMAl 300
Oth==2Z2 & s I3
25,000 = 120H& 300
401 Al HIZ 201 I 96,984 96,290 694
01 A& HI 96,290 82,090 14,200
O[AI&HI] 96,290
O Aot &l 385,000& = 13374 & 51,205
O Aot HYEX OHYHI
35,0003 = 882.428m 30,885
O3 ¥ S8
710,000& = 20 X 14,200
03 AlE 2 THHI 694 14,200 A 13,506
A6 A Zel AIZ 2l
96,290,000& = 0.72% 694
SRE &4 52,000 52,000 0
< 26,000
[ia 26,000
401 AIEHI L 2CHEI 52,000 52,000 0
< 26,000
s 26,000
01 A& tl 52,000 52,000 0
O[AI&HI] 52,000
OEIBE E4&Ad A&t
52,000,000& * 14l 52,000
< 26,000
e 26,000
Aot 2el 5,000 155,000 A 150,000
Xot4 HET el 5,000 155,000 150,000
401 Al HIZ 201 Y| 5,000 155,000 A 150,000
01 A& HI 5,000 155,000 A 150,000
O[AI&HI] 5,000
OXlot= HZ &=+ 1,000,000& = 5 5,000
Ne2g ofd 22 114,969 140,969 226,000
< 13,000
s 101,969
ot& JIE M Eh 114,969 140,969 226,000
= 13,000




AN ALY
M ofd FHHl
Chelr Xg2z otd 2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 101,969
203 YR =2l 10,000 10,000 0
03 A ZXH S =AY 10,000 10,000 0
OMoHOE X ot ZeIPRAIHFA
10,000,000& * 14 10,000
401 A& HIZ 2018 104,969 130,969 A26,000
= 13,000
fia 91,969
01 A& HI 104,400 130,400 A 26,000
O[EX HHI] 4,400
OGHEEAME DRNL SHEY 242
110,000& * 402 X 4,400
O[AI&HI] 100,000
Odtd JIEH ML=+
10,000,000 = 200 & 20,000
Odtd otat HE=HMAH
10,000,000& * 1.50H & 15,000
Odtd “Fti+=22 uiH
3,000,000& * 30H A 9,000
OctA Hi=2= &4 20,000,000& * 1JH2 20,000
Ocotd =58 & 5,000,000& * 204 A& 10,000
OGt&EIIEM FHAME % ESHA
26,000,000 * 14l 26,000
= 13,000
fia 13,000
03 Al 2 THHI 569 569 0
Ootd JI&dM M2+ Y
20,000,000& = 1.62% 324
OStd ==ti+=22 WM 20l
9,000,000& = 1.03% 93
Ootd =58 2& 20l
10,000,000& = 1.52% 152
Mt - Mol g & =2ss 25 6,057,664 4,811,410 1,246,254
= 4,250,759
< 13,200
[ia 1,793,705
KHOETH Ol &2k el 122,697 604,597 A 481,900
g s28s N 6,200 7,600 A 1,400
201 Let249] 6,200 7,600 A 1,400
01 At 22/l 5,600 5,600 0
Olgers=&tl] 5,600
O 22 2 MH
70,000& = 1004 » 4=D| 2,800
OMHMY S22 M HHE
1,000& = 45001 = 43| 1,800




PN AL ST

A T WA MY L =P B
S THSATHE ol 2tel (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMUHUZ X WM MA
10,000& * 100 1,000
A2 H I 600 2,000 A 1,400
OM:Ht=e0 OHE SEI1J 4=
150,000& * 43| 600
Stat l=EHE X 2H 2l 22,481 30,481 A 8,000
o124 dl 2,181 2,181 0
JIZtHZ22HsE+ 2,181 2,181 0
OBf+BIE A2 Ha oo
38,120& = 20! = 28.6Y 2,181
2Bt A | 7,600 7,600 0
At 2t el | 1,800 1,800 0
Oflget=&tl] 1,800
OStiti =B I E NMIIUEAA W22
150,000& = 1200 & 1,800
S22l 5,800 5,800 0
Ol2222 ¥ HMAll 4,800
OB+ HEN MIIR3
400,000& = 129H& 4,800
O[Al&E &bl = Xbl] 1,000
OSIM+BIEY Y&HI RR
1,851& = 15.435A|2F » 35¢ 1,000
ANEHI SR 12,700 20,700 A 8,000
A& HI 12,700 20,700 A8,000
O[AI&HI] 12,700
Ostdtii=&8 =& =2/l 2,700,000& * 1Al 2,700
Ostitil=8 IO E Q2 EHZA
10,000,000& * 14 10,000
NETsd Mt 29 65,216 37,716 27,500
2Bt | 27,500 0 27,500
At 2t el | 27,500 0 27,500
Oolm=tl] 27,500
O NAXNSLME erdz 2
50,000& = 350¢! 17,500
Oz NaAXNSsSSME =M
200,000& = 50¢! 10,000
ALE A F 2,016 2,016 0
HALAHI B A3 2,016 2,016 0
OYMHaY AL & MHEA FHOtAHl 244
7,000& = 7221 * 43| 2,016
OlF=L o2& = 24,500 24,500 0
QLI 2 & 3 24,500 24,500 0
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PN AL ST
I Y - Mol ol X =RsH 23

Chelr Tt ol 2e] (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OXSXsLd Mt Holuy & =283 X2
7,000 = 3502 x 10 24,500
307 glz2+ol & 11,200 11,200 0
02 QI2tFAB X 11,200 11,200 0
ONETSYWE HIIDE U 43l &4
16,000& * 35021 * 23] 11,200
otd sta3Z=e N& 1,800 1,800 0
301 L2 A= 1,800 1,800 0
10 AtAHIEAZ 1,800 1,800 0
020128 QHEBREY B
1,800,000& * 14l 1,800
Sol M2 tEae 27,000 527,000 A500,000
201 Let249] 27,000 27,000 0
01 At 22l 27,000 27,000 0
Olger=2tl] 27,000
OE+ENE MM (SY24R)
27,000,000 * 14l 27,000
SOl Al 2tel 36,240 54,240 A 18,000
< 4,000
s 32,240
Mtatets 23 2e| 28,240 28,240 0
201 L2l 28,240 28,240 0
01 At 2t 2l 1,680 1,680 0
Ol=&Htl] 1,680
oML aEA 22 Sy
7,000& = 92! x 26.665Y 1,680
02 =224l 26,560 26,560 0
Ool2222 ¥ HMAl 15,480
OMolitHx2H B2
20,0003 = 4224 = 12013 10,080
OZHME CCTV eIHY NME3HRS
45,0003 * 100HA » 12042 5,400
O[ANA &R XYl 11,080
O ZREI wX&cltl
2,916,666& * 12004 = 8% 2,800
O THGH Ol - BEAIAE S22l
2,410,714 » 14044 = 8% 2,700
OMta 2T AIAE S22l
22,500,000 * 1A = 8% 1,800
OMtzted EHOIX KXt
315,000& = 1201 & 3,780
Mo ZBEAAE RX2] 8,000 8,000 0
< 4,000
e 4,000

no




DAY
DTG O o % =T
DUy AlgEe

or

ed 2}
= o

t

[1e]]

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 L2l 8,000 8,000 0
< 4,000
e 4,000
02 =224l 8,000 8,000 0
O[AM&&Hl S X4l 8,000
OMHZBEAAE KAzl
8,000,000& = 14! 8,000
< 4,000
s 4,000
o fIgeel Al 5,787,000 3,992,800 1,794,200
= 4,248,200
s 1,538,800
TH ol 21 & Xl =2 Z 8l 4,747,000 3,800,000 947,000
= 3,748,200
[ia 998,800
401 AIEHI L 201 4,747,000 3,800,000 947,000
= 3,748,200
i 998,800
01 A& HI 4,735,756 3,789,740 946,016
O[AI&HI] 4,735,756
OME MoliIEX T EHIAMZ
3,416,800,000& * 14 3,416,800
= 2,418,000
s 998,800
O St Mo X7 ZHAE
1,318,956,000& * 14l 1,318,956
= 1,318,956
03 AIE 2 0HHI 11,244 10,260 984
OMoll IS X+ ALY F0HbI
11,244,000& * 14 11,244
= 11,244
SURE L=FEFY| 40,000 192,800 A 152,800
401 Al HI K 201 I 40,000 52,800 A 12,800
01 A& HI 40,000 52,800 A 12,800
O[AI&HI] 40,000
OSURE EFEIH (98 =T )AL
40,000,000 * 1JH A 40,000
N2ZEASEX S Z I 1,000,000 0 1,000,000
= 500,000
e 500,000
401 Al HIZ 201 Y] 1,000,000 0 1,000,000
= 500,000
s 500,000
01 A& HI 997,300 0 997,300
O[AI&Hl] 997,300
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PN AL ST
I Y - Mol ol X =RsH 23

bl

©e: Mol FAE2e F CEERED)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OMNMYYEHXSA HHIALS
997,300,000 * 14 997,300
= 498,650
e 498,650
03 A& =TI 2,700 0 2,700
OMYZHXA ZHHIAY R0
1,000,000,000& * 0.27% 2,700
= 1,350
[ 1,350
Mol =& 23t 84,000 126,000 A 42,000
< 7,500
e 76,500
Mol =2 XI& 20,000 30,000 A 10,000
302 Ol THoH E&F = 20,000 30,000 A 10,000
02 RIZHOITHOH 2 & = 20,000 30,000 A 10,000
Ol =4 & XS
20,000,000 * 14l 20,000
MHoldlol ==+ 49,000 60,000 A 11,000
201 £B-2%H| 4,000 4,000 0
01 At 22/l 4,000 4,000 0
Ofget=&dl] 2,250
O=<XM- (0, 22 &)
450,000& » 5& 2,250
Oolgxz] 1,750
OMaoiE=2=+ &Hl L=
350,000& = 5CH 1,750
401 AIEHIZL 28I 45,000 56,000 A 11,000
01 A& Hl 45,000 56,000 A 11,000
O[AI&HI] 45,000
C2sS=7 WA AtH
4,500,000& * 1000 A& 45,000
Sxof 2 A& 15,000 12,000 3,000
= 7,500
s 7,500
307 glz2tol & 15,000 12,000 3,000
< 7,500
s 7,500
06 283 15,000 12,000 3,000
OZ=dl 28 N3 15,000,000 = 14l 15,000
= 7,500
[ia 7,500
QIETH Olgh2el 27,727 33,773 26,046
= 2,559
< 1,700
[ 23,468
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SN ALY

M T - Mol oY ¥ =72s" 2st
ool OIETYL ol e CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Mt FHAI 7 M FEZH L H| 5,117 5,117 0
= 2,559
e 2,558
401 Al&HI & 28I 5,117 5,117 0
= 2,559
s 2,558
01 A& HI 5,117 5,117 0
O[AI&HI] 5,117
OMtFHAIF UHMFZ L HHIALS
59,500& * 867t 5,117
= 2,559
s 2,558
ANEs8 ¥z & 2el 5,510 6,056 A 546
201 Let2d] 5,510 6,056 A 546
01 At 221l 5,510 6,056 A 546
O[ger=&dl] 5,510
OctMZe|HEMN MZ 32,500& » 1008 3,250
OAN&=zE HEEH JI=E22
65,000& * 28 * 123l 1,560
OAd= SHEADNE S22 M
70,000 * 50 * 23] 700
Ot 2o2E XNJAY 17,100 17,100 0
< 1,700
e 15,400
201 L2l 3,331 3,331 0
< 333
s 2,998
01 At 22l 3,331 3,331 0
Oootdze M2 2¢ 714,500 * 23] 1,429
< 143
i 1,286
OMLHE & AAIAXEH P2
1,902,000& * 14 1,902
< 190
= 1,712
301 L2 A Z 3,875 3,875 0
< 387
s 3,488
10 At HIEAZ 3,875 3,875 0
O SALL W= 155,000& * 259 3,875
< 387
i 3,488
401 Al&HI & 28I 9,894 9,894 0
= 980
s 8,914
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AN ALY
M HY2IAZH (AL L)
¢l =gl (chel & 9l)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 Lt 5,716 5,716 0
01 At 22l 5,716 5,716 0
Oflget=&Hl] 3,326
ORA2E SHA L 3,326,000& = 14 3,326
Ol=&tl] 2,390
ORAN2E SHAL 2,390,000 * 14l 2,390
202 O4dl 3,326 3,326 0
01 = LH 4 Hi 3,326 3,326 0
FA2E SHAY
20,0003 = 491 = 41,575 3,326
2HEE J1=3l 15,271 16,071 A 800
201 Let24dH] 9,271 9,271 0
01 At 22/l 9,271 9,271 0
Oflger=&tl] 5,239
ORN2E SUNY 5,239,000& = 14| 5,239
Ol=&Hl] 4,032
ORN2E SUNY 4,032,000& * 14! 4,032
202 oddl 6,000 6,800 A 800
01 = LH o4 1l 6,000 6,800 A 800
ORN2Y SAUAHL 20,0003 = 62! = 50 6,000
HRags(Hde ) 460,000 406,000 54,000
HEAHH XK= 460,000 406,000 54,000
I3EES 460,000 406,000 54,000
702 J1SHES 460,000 406,000 54,000
(RPIE=RSE—= 460,000 406,000 54,000
OM:t2eldlz 460,000,000& * 14! 460,000
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